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( Maple ,s)
> tangplan := a,b ->f a,b +D1 f a,b* x-a +D2 f a,b* y-b :
>fi= x,y ->9-x2-y%:
> plotf := plot3d f x,y ,x =-3..3,y =-3..3 :

> display3d plotf, tangplan 1,2 ;
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( Mathematica ,5)

tangplana ,b =fab +Df x,y ,x x-a +Df x,y,y x-b;
fx ,y =9-x"2-y"2
plotf = Plot3D f x,y, x,-1,1 , y,-1,1 ;
plotz = Plot3D tangplan 1,2, x,-1,1,y =-1,1 ;
show plotf, plotz
3 md 030l e Dy s b OL51E i o 31 015 gr 031 S amlone BB 57510 ¢ B
> with linalg : (Maple ,s)
>grad 3x~2+2*y*z, x,y ;
6x,2z, 2y
>> Calculus "VectorAnalysis"® ; ( Mathematica s )
Grad 3x ~2+2*y*z
6x,22,2y
)J‘) f aﬁﬂwcugﬁ_}mém@bjm”‘_;‘j:}a.'wajol.:b‘}fj}) ‘)‘ Q‘j‘;‘) dru‘;ﬂh‘g‘y%
.( Mathematica ,s) 3 bl VOls S 5o (a,b,c) i
gradflz .y .z |=Grad flz,y,2] ;
u = v /Sqrt[v.v];
ddriv=gradf[a,b,cl.u
w5 sl YU Ol s ¢l 1L v=1(2,1,2) ,l5 55 ccbca b f =2+ +Z2@U[)>Jf:)\}l{()};§\
AT o s
2x,2y,27

20
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